Part l.1st WDC2412-WDC2412BGFI Unit:inch

No| Picture Specification Qty ] 5 3
A Screw @3*1/2" 24 ‘ X A |
B Screw @3*5/8" 4 = | N
C Screw J4*5/8" 2 ‘ g o |
D Scr?w B4*] 3{ 16"| 24 \ e ‘ | \%413 ot Face /0
E 135° Metal Clip 6 Door Frame Side Panel
F Hinges 2 5 4
G Bumper 2 | [ ‘ ‘
Right Face Left Back 16 1/4° RightBack 16 1/4"
Side Panel Side Panel Side Panel
¢ 23 1/16" 38 23 1/16" ?
e e -
: : |
‘ L8
Top Bottom Back \b

Panel Panel Panel




Assembly instructions

Picture| Specification |Qty[No| Picture| Specification [Qty|
v Screw @3%1/2" [ 24|E] & [135° MetalClip [ 6
\ Screw @&3*5/8" 4 | F 4 Hinges 2
{ Screw @4*5/8" 2 1 G € | Bumper 2
Screw @4*1 3/16'1 24

Z
ol UU)>O

page 1 of 2
WDC2412-WDC2418
WDC2412BGFI - WDC2418BGFI




page 2 of 2

W2412-WDC2418
W2412BGFI - WDC2418BGFI




